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kﬂﬁ?ﬂﬂh—} ™ X 7%= 38,465[m?],

ANEARER = 7 x5 = 19,6250 m? ],
WK HEKTE T RS BFHEH AR,
V,=(7 —h) x38.465[m? 1,
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LTI 7' ug® AL
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U;=u,= 0, P1=P2=j<%HF—-9 uj‘ﬂ%mﬁﬁjz’
Zy=h, z,=16,72~1.96h

zy-2,=h-16,72+1,96h=2,96h—16.72
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ye /m
v 2,727
#HEm i dty KE AhT W Blh—dh, X Kk ## T{L
% — 38,465dh[m? ],
0.785(0,075)% (2,96h~-16,72)/2,727 dt
= - 38,.465dh
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—38.465dh
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. (2550F — K BE w107 INS/m By ik E— R
ALoommiEERNRERS, EARIHRASRXERNED
BE AP/L=320N/m?, RERMEEE20mmIEE— &8 & 3
BERET?

N RERSERRREAEEAR,

- AP
,= AT (R2-y2
¢ 4 p L( )
_— AP p,_ o,y 320 g oat
Uspmm Tl (RZ-r?) i ><10_,(0.05 0,03%)
=1,28[m/s]

E. USRI ZHERENB S RENE, BAZERERS
7 $57 %3, 5mmEANE, ABR, BDRHEIERE(E
BHEEMREES) HR20m, BCRHELRKEN120m, &
E R B AE B 800Kg/m®, FBREIWER B FRAF
TRXBEEAH L =0.025, HEpfAmERE. $HE R N
’f&HE,

94 mmH, 760mmﬁzlﬁg)‘
76“’"”'!3(%&) c " ‘7(%1
= 3 g o L
e ——4 BB i ~+
¥ —Lr\—’, -ﬁ $=4.5 ‘
* =g
B 2
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_zD+P_D+uBD +llBD Usp +(E+Ey )u;;

2g d 2¢g
101825
94 x 1040
760 Upc? 120
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S BB uac=l.41[m/sJ, Hp=21,8[m]
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A=0,785(0,05)2=0,00196[m?2]
SR RAEENKE V=usA=(upp+us)A
=(1+1.410)x0,00196 =0,00472[m®/s]=17.00[m3/h]
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|: (1) las=60my [pc=6my, [ ,pc=9m, Ipp=9m,
l.pp=15m,day=40mm=0,04m,dpc=dgp =25mm=0,025m ,

2 2
Upe ( das = (ﬂ) =2,56 .. UAB=11_BC/2.56

Uan dec 25
Pl ulz Pc u’C2 lAF uAB2
z, + + =z + + +
Py 2g Y 26 T r T 2
+ A (le + l)BC uP,CzAV

dic 2g

. 4 9+6 | Upc® 60
5 oz, -ze=4 (1+o.03L0.025 e +0.05550

X (ul’C/2056)z
19.62
=0,9684uzc? + 0,35upc? = 1,3184u,c2
S uge=v 3,034 =1,74[m/s]
V:=0,785(0,025)% X 1,74=0,000854[m®/s1=3,073[m? /h]

P u;? P Uap 2 1
Zy+—b gl =z, 4 2B g °D 4 g ARy
@) 2 +— 26 ¥ | 28 e
XUARZ_‘_A (I+1.)mp Unp 2
2g dBD 2g

2

- = = 3
21=2p= 4 (“0'0 0.025 / 19.62 0.04

x (uBP/Z.SG)z
19.62
=1,4679u:p2+0,35u;p2 =1,8179up,?
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v = _ =1o
u:p ~/1.8179 48Lm /s

Vb =0,785(0,025)2 x 1,48 =0,000726[m?®/s]=2,614Lm®/h]
M V=Vp+V.=2,614+3,073=5,687[m?/h]
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HC, FECH0.62) ¥ AREARRKERET 28K,

8. V=3[F/s1=0.003[m*/s]

V==6L[FF/s]=0.006[m3/s]
LOF#E u, = Co\/m = 0.52\/m= 2.75[m/s]

V,=0,785d,%u,=2,159d,%=0,003

d, = (2)(;%%= 0.0373[m] =37.3(mm)

v =Cvo;/ig-1‘(—Z('—“—l)~=o.sz X 0,785(0,0873)? X

»« /19.62R(13600— 1000)
: 1000

=0,0006771v 247.212R =0,010646v" R

— 0,006

= 0010645 09636

# R=0,312m=312(mm)
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